EAGRAROBREERT — 2 N— ABISH —F

201988110 (H) 2mE/\&6H

E545EA 177X ¥7R3mE (BE

) (%8

oN=}
EE

‘ [R1%] & ‘ [REBE] — | Z (&) 17000 B

[A~&£] 1 7% 10,500,000 § ~ 2 & :4,200,000 @ 337 :2,600,000 ™ 43 :1,600,000H 53 :1,050,000 H

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o AL a1 33 A , LA (FEH)
i NEEE P i3 wu 1(&)1 4-3-3-3 | 35.1| 97.6 | 2 (4_528) L
RX:A—FpF+a7 B:XRS4 70— b TVT5TT— I
3 A i o4 | EDEMRE 1:41.3 6-5-5-5 |35.0| 95.5 | 10 | 454 |GfET (R®)
2 5|X777 55.0 ( 1/2) (g) | BRER
RN=—5—yT B:447515— b IV95 7T — I
7 > 5 | BfEH 1:41.4 2-3-3-3 |35.4| 94.5 | 12 | 438 |BRE (BR)
1 > DI 57.0 (172) (o) |EE=S
:Aa-I>70> B:FIZhHLTY HET7—L
=5 # 3 | BEEEE 1:41.4 14-14-13-10| 34.5 | 94.5 | 3 450 | MAKER (RR)
4l8l14 Y¥=>~E7 [B] 54.0 (AF) +10) et
R:F4=TA2INT N BiYw=hNT—0 SRS
S S 4 6 | BEHE— 1:41.5 13-13-11-12| 34.8 | 93.5 | 9 486 |HBEEZ (ER)
51712 vagFrraayr .0 (7€) (o) |EAEE
R:w>NnNy&hT71r B:OyIFTH)H [7e-rie]
3 > 4 | VX 1:41.6 6-7-7-7 |35.2| 92.4 | 6 442 | BEEEHR (RR)
6 6 NTHT7I0O A 57.0 (172) (-2) B AT
R:VIR—b BixrT5oYp ®I -
S S = #o4 | NARE 1:41.6 2-2-2-2 | 35.8|91.9 | 7 468 | THEEZ (EX)
7 3|B— R1eZ= 57.0 (7€) ) (%) O—RKx—2957
:A—-KAFA7 B:LTaH—ZNN TATAT7—L
P = H 3 | BKEAS 1:41.7 11-9-8-7 [35.2| 91.4 | 5 462 | AAREES (BR)
81813 ?{/T’f *— 54.0 (2 E) +2) |, 57973
R:F—TA2NNTF B:ieUA-X HBITr—L
SIL f 3 | AR 1:41.9 8-8-8-7 |35.4| 89.3 | M 464 | KIEBEAN (ER)
EH 9| NIWT T 52.0 (' 1/4) ey | BB G1L—3>7
L:Fq=TA NI~ B:TI—) TR R (B) HEIA-KL—-—Ya>AET7
S s 3 | EHPE 1:42.1 11-9-8-10 | 35.6 | 87.3 | 4 438 | EIFBEA (EX)
10/5| 8| EXLY—F 52.0 (1 1/4) g) | ) FrEZL 22T L
Z:O0—-Kh+a7 B:J5 TVt E# EER
. # 3 | dERKR— 1:42.3 4-5-5-5 | 36.1| 85.0 | 1 504 | HEERE (ER)
"z 7*Vh>7c47 52.0 (1 1/4) 2 | B) FrOvrTr—L4
LN—=YIS4 B:TFTAUH—F J—HrTr—L
3 3 s 3 | =XRH 1:42.5 1-1-1-1 | 36.8| 83.5 | 8 470 |FRBE (FH)
1211 F1-IIIVE 52.0 (11/2) (+14) EARR=
R:TI9 84K BRI RLI—F HEIIS
- 3251 — tr 4 | BERK 1:42.6 8-9-12-13 | 35.8 | 82.4 | 13 | 436 |HMHAEX (=)
EH10 2=_/IXTY - 57.0 (1/2) (-12) ’{;7}(&&5
L:8=/F¥LLy b BTSALN= [ELAEEAIES
: o4 | BAEE 1:43.7  [10-12-13-14 36.7 | 71.9 | 14 | 470 |[WOBE (FF)
14|5|7|®FV 27— A 57.0 @) ve) | B A-23
STANWNTTFY— BTz X—)LTI— pleie
@ 21 L
£y 46.9-35.4
NO>24 L |6.8-11.3-12.4-11.9-11.8-11.5-11.4-11.7-12.3
® I—F—&EBIERL
| S=7r= 1(2,3) (4,11) (5,6) (9,10)7(8,13) 12,14
20—7— 1,3(2,4) (5,11)6,9(8,10,13)7,12,14
33— — (¥1,3) (2,4) (5,11)6(8,9,13)12,10(7,14)
Mal=5r= (x1,3)-(2,4) (5,11) (9,6,13) (8,14)12,10-7
[ N
B R 4 510M | | 71 K 4-5 1,780M | | # = 3-4 1,360/ | | 3:&t& 2-4-5 48,930
# B 4 200M 2-4 2,580M B E 4-5 5,380 EE 4-5-2 195,640
5 580 2-5 6,080 B H 4-5 9,380
2 750M

ABRICOVTHRTEEERROODE, THEB LS,




